50X THE MONEY o
PA-1166 ON SALE NOW \\’g&“ﬁ?

WHEN ANY OF YOUR NUMBERS MATCH ANY
[ J WINNING NUMBER, WIN PRIZE SHOWN
UNDER THE MATCHING NUMBER. 0DDS ARE CONSOLIDATED
[ WIN WITH: WIN: 11N: 0DDS ARE 1 IN:
(3l $10 w/ MONEY $10 10.00
$10 $10 20.00 $10 =6.67
A B $15 20.00
s B $15 60.00 $15=15.00
$10x2 $20 300.00
(3l 520 w/ MONEY $20 40.00
$20 $20 200.00 $20 =30.00
P BIX $40 600.00
$20x 2 $40 600.00
(| 540 w/ MONEY $40 300.00
§ $40 $40 600.00 $40 =120.00
$10x5 $50 300.00
(] 550 w/ BANK $50 60.00
$50 w/ MONEY $50 150.00
P B $50 120.00 $50 =28.57
$10x10 $100 600.00
(W s20x5 $100 600.00
(550 w/ BANK) x 2 $100 600.00
3 5100w/ MONEY $100 600.00
A B $100 600.00 $100 =120.00
$50x 8 $400 24,000
Q5100 x4 $400 24,000
(540 x 5) + (520 x 10) $400 12,000
B (550 w/ BANK) x 8 $400 4,000
$400 w/ MONEY $400 24,000
A si00 $400 24,000 $400 =2,000
0 B $500 24,000
(540 x 10) + (520 x 5) $500 24,000
LR S10w/ 50K $500 3,429
($50 w/ BANK) x 10 $500 17,143
[ 5500 w/ MONEY $500 24,000
$500 $500 24,000 $500 =1,935
[ 5500 x 2 $1,000 24,000
1 (5100 x 5) + (S50 x 10) $1,000 24,000
((550 w/ BANK) x 10) + $500 $1,000 24,000
[ 520w/ 50X $1,000 4,800
$1,000 w/ MONEY $1,000 24,000
A B $1,000 24,000 $1,000 = 2,400
§ $500x 10 $5,000 2,160,000
$100 w/ 50X $5,000 720,000
[ s5.000 $5,000 1,080,000 $5,000 =360,000
$500 w/ 50X $25,000 720,000
(3 ss000 $25,000 2,160,000 $25,000 =540,000
$300,000 $300,000 1,080,000  $300,000=1,080,000
o REVEAL A “ " (MONEY) SYMBOL, WIN PRIZE SHOWN UNDER THAT OVERALL CHANCES
s SYMBOL AUTOMATICALLY. OF WINNING: 1-in-3.30
T REVEAL A ”@” (WIN50) SYMBOL, WIN $50 AUTOMATICALLY. Prizes, including top prizes, are subject to

REVEAL A “ 3" (50X) SYMBOL, 50 TIMES THE PRIZE SHOWN UNDER THAT SYmoL,  @Veilabilty at the time of purchase.




